Atomic Energy Central School No. 4, Rawatbhata
Multiple Choice Question Examination (November)

Name of the student : Date : 29.11.2019
Class-V Sec. Roll No.

Instructions : 1. Fill & darken roll number field correctly on OMR Sheet. In case of any error, OMR Answer
Sheet will be not be read by the OMR Scanner.
2. Darken the most suitable option no. on OMR Answer Sheet.
3. There is no negative marking.

1. Who is the poet of Topsy- Turvy land ?

a. Gerbase Phinn b. H.E Wilkinson c. Enid Blyton d. Kamla Bhasin
2. Give one word for this sentence : when a person tells the story of his life in his own words —

a. Autobiography b. Biography c. Lecture d. Speaker
3.Meaning of ‘Bellowing’ is

a. Silence b. Introvert c. Very loud noise d. low noise
4. Rhyming word of pleasure is

a. Tear b. Planned c. Wear d. Treasure
5. Superlative degree of Juicy is

a. More juicy b. Most juicy c. Juicier d. Juiciest
6. A giant bird is a

a. Kiwi b. Ostrich c. Peacock d. Parrot
7. Give a comparison for this — as tall as

a. a giraffe b. a leopard c. an ant d. a cow

8. Who was Gulliver ?

a. afarmer b. a dwarf C.agiant d. a sailor
9. The Farmer’s dish is feet in diameter.

a. twenty b. fifteen c. thirty d. ten
10. The Farmer’s wife was a woman

a. kind-hearted b. cruel c. talkative d. shy
11.The caris than the sailboat

a. fast b. more fast c. faster d. fastest

12. Synonym of grand is

a. small b. thin c. loud d. big
13. In Topsy-Turvy land, people walk upon their

a. legs b. hands c. heads d. shoulder
14. The comparative degree of clever is

a. cleverer b. cleverest c. more clever d. clever

15. Choose the adjective from the given sentence—
There are many intelligent students in our class.
a. many b. students c. class d. intelligent
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Which shape is cube in the following shapes?

SO v =
Which shape is cuboid in the following shapes?

(a) (b) U (© (d) Ej

Thereare __mm in 15cm.

(a) 15 (b) 150 (c) 1500 (d) 105
95 centimeters = meter

(@) 9.5 (b) 0.95 (c)95.0 (d) 905
3metre8cm = meter

(a) 30.8 (b) 3.08 (c) 0.308 (d) 308
Rupee %: = paise

(a) 25 (b) 75 (c) 50 (d) 20
Rupee % = Rupee__

(a) 25 (b) 75 (c)0.75 (d) 7.5
Ramesh has to grow 65 cm more to reach 2metres height. What is Ramesh’s height in meters?

(a) 1Im65cm (b) 1m35cm (c) 1m45cm (d)Im55cm
Cost of an egg is Rs.2.50. What is the cost of two and half dozen eggs?

(a) Rs. 50 (b) Rs. 60.50 (c) Rs. 75.50 d)Rs. 75
If One won = Rs. 0.04 than, Rs. 800 = won

(a) 2000 (b) 200 (c) 20,000 (d) 20
Cost of one pen is Rs.13. Raj has Rs. 60. How many pens can Raj buy?

(@) 4 (b) 5 (c) 6 (d) 7
One Dirham is equal to Rs. 10.80. Ram gets 500 Dirham as salary. What is the salary of Ram in Indian Rupees?

(a) 5400 (b) 54000 (c) 540 (d) 5040
There are faces in a cube.

(@) 4 (b) 5 (c) 6 (d) 2
8 paise = Rupee

(@) 8 (b) 0.08 (c)0.80 (d) 80

20/100=__

(a) 0.02 (b) 2 (c) 0.002 (d) 0.2
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Which calamity occurred on 26th January 2001?
(a) cyclone (b) flood (c) earthquake

An instrument used by doctor to listen your heartbeat
(a) Thermometer (b) black mirror (c) stethoscope

When there is no rain and crops fail, then there can be
(a) famine (b) flood (c) cyclone

Your heartbeats become faster when you

(a) sing (b) eat (c) speak
Which air is essential for burning?

(a) Nitrogen (b) Carbon dioxide (c) Hydrogen
Mota bapu was a in the village

(a) Doctor (b) teacher (c) sarpanch

Excessive rainfall can lead to

(a) flood (b) Tsunami (c) drought
‘Blow hot blow cold’ this story has been written by

(a) Nehru ji (b) Gandhi Ji (c) Dr Zakir Husain
Our breath is warmer than the surrounding airin ___ season

(a) rainy (b) summer (c) spring

Mia Balistiya wasa __ person

(a) strong (b) tiny (c) black

Which survey is done to see the scene of disaster from a plane.

(a) tv (b) news (c) aerial

Richter scale is used to measure the intensity of

(a) earthquake (b) flood (c) famine

The air we breathe out contains
(a) moisture (b) fragrance (c) saliva

The study about earthquake is known as

(a) biology (b) seismology (c) geography

Deforestation is one of the reason of

(a) drought (b) Tsunami (c) hurricane

(d) Tsunami

(d) reflex hammer

(d) drought

(d) run

(d) Oxygen

(d) socialist

(d) famine

(d) Rajiv Gandhi

(d) winter

(d) tall

(d) network

(d) draught

(d) dust

(d) zoology

(d) flood



